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N 4. Solve the system using. Crarner s Rule (you must Show matnces/determlnants)
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Chapter 8 Review

Name

1. Use any method to solve (show matrices and thoroughly explain!)

X+y—z+2w=7
'3x—2y+5‘z—2w=m1‘
2x+3y—4z+w=0 o
—X—yt+z—w=-3
2. Use the following matrices:
3 4 35 1 1 4
A=|2 6 -7 5| B=|0 5
-1 0 -3 0 6 -1
a. 3A-5B
b, AB
d. CA
© 3. Solveforx, y,and 7 given A=B:
x4y 1031 4 13
A:[x Yo b ]andB:[

2 z5 x-y 25
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4. Solve the system using Cramer’s Rule (you must show matrices/determinants):

2x-y+z=5
3x+2y+5z=18
x—y+4z=5

5. Use the determinant to decide if the points (-1, —1‘), (2, -3), and (-2, 2) are collinear.
{Show all work!) .

6. Find the value(s) of x such that the triangle with vertices (0, 2), (3, 4), and (x, -4) has
~an area of 10. (Show all work!)

7. Find the equation of the line that has the points (1, 3) and (4, 9). (Show all work!)
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8. Find 4™ given 4={ 3 1 2 |(no decimals!
. ‘ -1 1 -1




